FTH 2 FEOE=RERILFOEMERRA OMA X

#ERFIR F#AN—2R #ERFR F#A~A—X
JbiE 62. 6% HBER 64. 3%
GEa 60. 1% SRR AT 713. 5%
=2FR 68. 0% KB 60. 7%
=R 71. 0% EER 44. 8%
MAR 13. 2% KRE 64. 9%
L2 R 47. 8% N 17. 7%
BER 83. 2% ENE 73. 3%
3 83. 2% SRR 62. 7%
R R 70. 8% [ LU R 46. 5%
BER 55. 5% LER 50. 6%
BER 55. 8% AR 42. 9%
FER 68. 6% BER 55. 7%
R AR 65. 8% FIIR 69. 5%

ARIIIE 13. 3% ZRE 50. 6%
ikl 84. 1% = KR 95. 3%
=WE 57. 0% 1 [ R 67. 9%
AR 61. 8% EER 62. 7%
BHRE 62. 5% RIGE 67. 8%
Y 55. 9% REARR 66. 9%
REFR 68. 5% RaR 58. 3%
Iz B 1R 56. 7% = IR 83. 5%
7 R 59. 1% BRER 45. 7%
ZHR 67. 3% riE R 23. 4%
=ER 74. 8% &t 65. 6%




